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GUIDELINES AND INSTRUCTIONS FOR ENTRANCE TEST 

FOR ONLINE EXAMINATION 

In Online Examination system; Test will be conducted in fully computerized, user friendly mode with advanced 
security features making it fair, transparent and standardized. 

Information & Instructions: 

1.  The examination does not require using any paper, pen, pencil and calculator. 

2.  Every student will take the examination on a Laptop/Desktop/Smart Phone. 

3.  If you are using your personal laptop/Desktop, please make sure that you have installed the necessary 
software and programs & having proper internet connection before the examination day.  It is important 
that your laptop/desktop/Smartphone-Mobile fulfils the system requirements of the programme. 

4.  You must bring your own power supply for use during the examination. 

5.  If failure to comply with these recommendations results in technical problems that cause a delay in your 
examination, you cannot expect to be granted extended time. 

6.  Kindly remember your Resonance Application Form No. as a Roll No. 

7.  You are not permitted to leave the Venue/any movement from Laptop/Desktop/Mobile screen during 
examination. 

8.  The students just need to click on the Right Choice / Correct option from the multiple choices /options 
given with each question. For Multiple Choice Questions, each question has four options, and the 
candidate has to click the appropriate option. 

FOR OFFLINE EXAMINATION 

1. This booklet is your Question Paper.  
 

2. The Question Paper Code is printed on the top right corner of this sheet.  
 

3. Blank papers, clip boards, log tables, slide rule, calculators, mobile or any other electronic gadgets in any 
form are not allowed to be used.  

 

4. Write your Name & Application Form Number in the space provided in the bottom of this booklet.  
 

5. Before answering the paper, fill up the required details in the blank space provided in the Objective 
Response Sheet.  

 

6. Do not forget to mention your paper code and Application Form Number neatly and clearly in the blank 
space provided in the Objective Response Sheet (ORS) / Answer Sheet.  

 

7. No rough sheets will be provided by the invigilators. All the rough work is to be done in the blank space provided in 
the question paper.   

 

8. No query related to question paper of any type is to be put to the invigilator.  
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RESONET QUESTION PAPER STRUCTURE  
 

For Class VII to VIII Moving Student 

S.No. Part Subject Type of Question No. of  
Ques. 

Marking Scheme 

Full Marks per 
Qs. 

Negative 
Marking Total 

1 to 25 I Mathematics Single Choice Questions (Only One Correct 
Option) (MCQ)  25 3 0 75 

26 to 35 II Physics Single Choice Questions (Only One Correct 
Option) (MCQ) 10 3 0 30 

36 to 45 III Chemistry 
Single Choice Questions (Only One Correct 
Option) (MCQ) 10 3 0 30 

46 to 55 IV Biology 
Single Choice Questions (Only One Correct 
Option) (MCQ) 10 3 0 30 

56 to 70 V Mental Ability Single Choice Questions (Only One Correct 
Option) (MCQ) 15 3 0 45 

Total 70  210 

 

 
 
 

RESONET SYLLABUS  
 

FOR CLASS VII TO VIII MOVING STUDENT 

SUBJECT 
SYLLABUS 

FROM 
CLASS 

TOPIC 

MATHEMATICS VII Integers, Fractions & Decimal, Rational Number, Lines & Angles, Triangles 
Congruency Triangles, Exponents, Algebraic Expression 

PHYSICS VII Measurement, Motion & Time, Heat, Sound 

CHEMISTRY VII General Chemistry, Fibre to Fabric, Acids, Bases & Salt 

BIOLOGY VII 
Nutrition in Plants, Nutrition in Animals, Weather, Climate & Adaptations 
Respiration, Transportation 
 

MENTAL ABILITY VII 
Alphabet Series,Number Series, Missing term in figure, Letter Repeating 
Series, Mathematical operations, Coding-Decoding, Direction Sense, 
Ranking & Ordering- Test, Sitting arrangement 
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For Class VII to VIII Moving Student 

S.No. Part Subject Type of Question 
No. of  
Ques. 

Marking Scheme 

Full Marks 
per Qs. 

Negative 
Marking 

Total 

1 to 25 I Mathematics 
Single Choice Questions (Only One 
Correct Option) (MCQ)  

25 3 0 75 

26 to 35 II Physics 
Single Choice Questions (Only One 
Correct Option) (MCQ) 10 3 0 30 

36 to 45 III Chemistry 
Single Choice Questions (Only One 
Correct Option) (MCQ) 10 3 0 30 

46 to 55 IV Biology 
Single Choice Questions (Only One 
Correct Option) (MCQ) 10 3 0 30 

56 to 70 V Mental Ability 
Single Choice Questions (Only One 
Correct Option) (MCQ) 15 3 0 45 

Total 70 
 

210 
 
 

PART-I : MATHEMATICS  
 

This section contains 25 questions. Each question has 4 choices (A), (B), (C) and (D) for its answer, out of 
which ONLY ONE is correct.   
 

 
1. Absolute value of –45 is  

(A) –45  (B) 0 (C) 1 (D) 45 
 

2. A wire 
4

15 m long is broken into two pieces. If one piece is 2
4
1  m long, then the length of the other 

piece will be  

(A) 1
2
1  m (B) 

4
3 m (C) 

4
9 m (D) 6 m  

 

3.  If we subtract 
26

3 from 
13

4 , then we get 

  (A) 
26
7  (B) –

26
5  (C) –

26
7  (D) –

5
26   

 
4. The complementary and supplementary angles of an angle are in the ratio 2 : 5 respectively. Find the 

measure of that angle.     
(A) 60º (B) 30º (C) 90º (D) 45º 
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5. There are two buildings standing on the opposite sides of a park. A ladder, 17 m long, reaches a point 
on a building at a height of 15 m from the ground. The ladder is now turned to the other building on the 
other side of the park keeping its foot at the same point. The ladder now reaches a point on this building 
at a height of 8 m above the ground. Find the distance between the two buildings.    
(A) 32 m (B) 18 m (C) 25 m (D) 23 m 

 
6. In the given figure, SPR = QRP and RSP = PQR. The side PQ equals 

 
 (A) PS (B) RS (C) QR (D) PR 

 

7. Simplify : 
 

   

37 5 3 2

25 3 2

5x y 10a x

2x y 6a y








     

 (A)  425 xy
6

  (B) 2 325 x y
4

   (C)  29 a xy
100

  (D) 
49 y

100a xa
   
 

   

 
8.   If the sides of a triangle are (y + 2z), (y – 2x) and (4x – 2z), then its perimeter is: 
 (A) x + y (B) x – y. (C) 2x + 2y. (D) 2x – 2y 
 
9.   An integer, on the given number line, is greater than every number. 

(A) from 0.  (B) from 1. (C) on its left. (D) on its right 
 

10. The value of  1 1 1 11 1 1 1 ?
2 3 4 10

                          
       

 

(A) 10
11

 (B) 1
9

 (C) 1
10

 (D) 1
2

 

 
11. In the given figure, if AB and CD are straight lines and COE = 90°, then the value of the angles x, y 

and z are :            

BO

90º

E

1
2

xº

zº
yº

5
2

xº

D

C

 
 (A) 16°, 50°, 130°     (B) 18°, 45°, 135°  (C) 20°, 40°, 140°  (D) 30°, 15°, 165° 
 
12.   Given ABC is a triangle. If AB = AC, then the value of x is      

 
(A) 600 (B) 700 (C) 750. (D) 1050. 
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13. In the given figure if PR = QR, SRP = TRQ and SQP = TPQ, then  

 
        

(A) SQR  PTR & SR = TR (B) SQR TPR & SR = TR 
 (C) RQS  TPR & SR = TR (D) QRS PRT & SR = TR 
 

14. 
2 2 3
3 3 427 343 2401

343 729 81


           
     

 = _______ 

 (A) 
81 7

3 3
   
 

 (B) 
71 7

9 3
   
 

 (C) 
3

3
7

9
1







  (D) 

67
3

 
 
 

 

 
15. If the side of a square is (2a + 3b), then its perimeter is 
             (A) a + b                       (B) 4a + 6b                      (C) 6a + 9b                    (D) 8a + 12b 
 
16.   A cement company earns a profit of Rs 9 per bag of white cement sold and a loss of Rs 5 per bag of 

grey cement sold. The company sells 2,000 bags of white cement and 3,000 bags of grey cement in a 
month. The profit or loss is (In Rs.) 
(A) 2,000 (B) 3,000 (C) 4,000 (D) 5,000. 

 

17. If x = 
5
2 and y = 1 

2
1 , then the value of x ÷ y is 

(A) 7 
6
4  (B) 

15
4  (C) 

4
15  (D) 

5
3   

18.  In the given figure, find x.      
 A 

E 

F B G 

xº
C 

58º 
36º 

 
 (A) 120° (B) 110° (C) 115° (D) 125° 
 
19.   In the given triangle, CE is the angle bisector of BCD.  If AC = BC, then ABC equals 
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(A)  60° (B) 100° (C) 120° (D) 130° 
 
20.   Exponential notation of 3125 is 

(A) 52 × 23 (B) 33 × 52 (C) 55 (D) 56 
 
21.   The sum of three consecutive whole numbers can be expressed as 

(A) x + 2x + 3x  (B) x + (x + 1) + (x + 2) 
(C) x + (x –1) + (x – 2)  (D) x + (x/2) + (x/3) 

 
22.   If 4x+3 × 2x-3 – 128 = 0, then the value of x is 

(A) 1/3 (B) 2/3 (C) 3/3 (D) 4/3 
 

23. If 
2a

y
x










 = 
6a

x
y 







 , then a is equal to : 

 (A) 1   (B) 1
2

   (C) 7
2

   (D) 4 

    
24. Simplify:  2x + [3y– {2x – (y – x)}]. 
 (A) 5x + 4y  (B) x – 4y  (C) – 5x – 4y  (D) – x + 4y 
 

25. The value of 
n 1 n

n 2 n
3 3
3 3

 

 




is: 

 (A) 1 (B) – 1
2

 (C) 0 (D) None of these 

 
PART-II :PHYSICS 

 

This section contains 10 questions. Each question has 4 choices (A), (B), (C) and (D) for its answer, out of 
which ONLY ONE is correct.   
 

 
26. Converting 2 kg m2 s–2 to g cm2 s–2 we get. 
 (A) 2  106 g cm2 s–2  (B) 2  107 g cm2 s–2  (C) 2  105 g cm2 s–2 (D) 2  108 g cm2 s–2 
 
27. N kg–1 is the unit of : 
 (A) Retardation  (B) Acceleration  
 (C) Rate of change of velocity (D) All of the above 
 
28. The capillary tube of a clinical thermometer has kink 
 (A) to increase the expansion of mercury.  
 (B) so that the level of mercury does not fall as soon as the thermometer is taken out of the mouth.  
 (C) to use less mercury. 
 (D) to help us see the level of mercury better.  
 
29. A wave of frequency 250 Hz is produced in an iron rod in which its velocity is 4800 m/s. Now, it 

passes into air in which velocity is 332 m/s. Its wavelength in iron will be 
 (A) 4800 × (332/250) m. (B) (4800/250) m.  
 (C) (332/250) m.  (D) 4800/(332 × 250) m. 
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30. An atlas of a country is shown in the figure; the distance between cities A and B is ________. 

 
 
(A) 35 km (B) 3500 m (C) 350 km (D) Both (A) and (B) 

 
31. A rubber ball dropped from a certain height is an example of : 
 (A) uniform acceleration (B) uniform retardation  
 (C) uniform speed  (D) non-uniform speed 
 
32. Human body temperature is normally 
 (A) 32°F. (B) 0°F. (C) 100.4°F. (D) 98.6°F. 
 
33. The frequency of vibration ________ with the increase in time period. 
 (A) increase  (B) decreases  
 (C) remains same  (D) Cannot be determined 
 
34. Choose the wrong statement: 
 (A) Retardation is a vector quantity. (B) Acceleration due to gravity is a vector quantity. 
 (C) Average speed is a vector quantity. (D) Displacement is a vector quantity. 
 
35. The distance between the 2nd compression and 3rd compression in a longitudinal wave is 200 cm. 

Find the wavelength of the wave. 
 (A) 200 cm (B) 2 m (C) 2000 mm (D) All of these 
 

PART-III  : CHEMISTRY 
 

This section contains 10 questions. Each question has 4 choices (A), (B), (C) and (D) for its answer, out of 
which ONLY ONE is correct.   
 

 
36.  The mass number A, atomic number Z and number of neutrons n are related as :  
 (A) n = A – Z (B) n = A + Z  (C) n = A × Z  (D) none of these is correct  
 
37.  The fleece recovered from a sheep can weigh between:- 
 (A) 16 and 18 pounds (2.7 and 8.1 kilograms) (B) 6 and 20 pounds (2.7 and 8.1 kilograms)  
 (C) 6 and 18 pounds (2.7 and 8.1 kilograms) (D) 6 and 28 pounds (2.7 and 8.1 kilograms) 
 
38.  China Rose turns ----- in acidic solution ? 
 (A) dark pink (magenta) (B) green  
 (C) yellow  (D) blue 
 
39.  Atomicity of Na2CO3 is?      
 (A) 10 (B) 6 (C) 8 (D) 4  
 
40.  Yak wool is commonly found in areas like? 
. (A) Ladakh and Australia (B) Ladakh and Tibet  
 (C) South America  (D) Jammu and Kashmir  
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41. The cotton seed meal ------that is left is used generally to fed livestock. 
 (A) khal (B) kapok (C) sal (D) None of these 
  
42. Acidic soil which is not good for healthy growth of plants, is neutralized by  
 (A) Potassium hydroxide (KOH) (B) Calcium oxide (CaO) 
 (C) Sodium hydroxide (NaOH) (D) Magnesium hydroxide (Mg(OH) 
  
43.  Wool burns with smell of burning hairs -      
 (A) as it is obtained from hairs of sheep and goat   
 (B) because it is a natural fibre 
 (C) because it is synthetic fibre    
 (D) None of these  
 
44. An indicator derived from lichen is? 
 (A) china rose  (B) litmus  (C) phenolphthalein     (D) universal indicator  
 
45.  Raghav categorised the following household items into acids and bases   
 Acids  Bases 
 1. tomato  4. ammonium hydroxide 
 2. soap  5. Vinegar 
 3. coffee  6. citrus fruits 
 

 Which of them are placed under the wrong category? 
 
 (A) 3 and 5   (B) 2 and 6  (C) 3, 4 and 5   (D) 2, 5 and 6   
 
 
 
 

PART-IV: BIOLOGY  
 

This section contains 10 questions. Each question has 4 choices (A), (B), (C) and (D) for its answer, out of 
which ONLY ONE is correct.   
 

 
46.  The relationship between the two organisms which is mutually beneficial is  
 (A) saprophytic. (B) symbiotic .(C) parasitic (D) heterotrophic. 
 
47.  Stomata plays an important function of 
 (A) exchange of gases. (B) absorption of water. 
 (C) preparation of food. (D) protecting the leaf. 
 
48. Which one of the following is true? 
 (A) Canines are well developed in carnivores (B) Canines are well developed in herbivores 
 (C) Canines are poorly developed in carnivores (D) Molars are well developed in carnivores 
 
49. The walls of the large intestine absorb 
 (A) water (B) digested food. (C) undigested food. (D) cellulose. 
 
50. Climate in the coastal regions is 
 (A) hot and dry.  (B) moderate and humid. 
 (C) cold and dry.  (D) cold and humid. 
 
51. Polar regions are 
 (A) the regions near the equator of the earth. (B) hot and dry for most of the year. 
 (C) covered with snow for most of the year. (D) the regions which recieve heavy rainfall 
 
52. During inhalation, 
 (A) diaphragm moves up. (B) ribs remain same. 
 (C) ribs move inward.  (D) ribs moves outward. 
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53. On an average, at rest an adult human being breathes 
 (A) 5-10 times in a minute. (B) 10-13 times in a minute. 
 (C) 15-18 times in a minute. (D) 22-25 times in a minute. 
 
54. Blood filteration is performed periodically with the help of an artificial kidney is  
 (A) circulation. (B) dialysis. (C) excretion. (D) sieving. 
  
55. Pulmonary artery carries impure blood i.e., the blood rich in carbon-dioxide from the 
 (A) lungs. (B) heart. (C) body parts. (D) tissues. 
 

PART-V : MENTAL ABILITY  
 

This section contains 15 questions. Each question has 4 choices (A), (B), (C) and (D) for its answer, out of 
which ONLY ONE is correct.   
 

 
Directions : (56 to 57) Find the missing number.  
 

56. 1, 4, 9, ?, 25, 36             
 (A) 11 (B) 19 (C) 21 (D) 16 
 
57. 7, 12, 22, 37, ?, 82, 112                                                                                                           
 (A) 62 (B) 57 (C) 52 (D) 42 
 
Directions: (58 to 59) Find the missing letters.  
 
58. J , N , R , V , ?          
 (A) X  (B) Y (C) P (D) Z 
 
59. ZB , DF , HJ , LN, ? 
 (A) RS  (B) VW (C) TU (D) PR 
 
Directions: (60 to 61) Find the missing term in the given figures. 
 

60.  

 (A) 75 (B) 26 (C) 25 (D) 20 
 

61. 

 
 (A) 47 (B) 45 (C) 37 (D) 35 
 
Directions : (62 to 63) Which sequence of letters when placed at the blanks one after the other will 

complete the given letter series ? 
 
62. ab_aabb_ _ bb _         
 (A) abbb (B) abab (C) baba (D) baaa 
 
63. _ l m n o k _ m n o k l _ n o k l m _ o 
 (A) l k l m (B) l l m m (C) k l m n (D) m l m n 
 
Directions: (64) Arrange the given words in alphabetical order and tick the one that comes first. 
 
64. (A) Grammar (B) Granary (C) Gradient (D) Grand 
 
65. If REASON is coded as 5 and BELIEVED as 7, what is the code number for GOVERNMENT? 
 (A) 6 (B) 8 (C) 9 (D) 10 
 

2 3 14 9 5

20 90 ?

39
3 5

6 3

7
51

5 4

4 3 5

45

?
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66. Shehnaz wants to go to the School.She starts from her home which is in North and comes to the 

crossing. The road to her left ends in a park and straight ahead is the office complex. In which 
direction is the School? 

 (A) East (B) North (C) West (D) South 
 
67. How many A are in the given letter series which does not has B just before it but has C just after 

it?                                   
             DACBACDACBCACBACBADC 
 (A) 3 (B) 4 (C) 5 (D) 6 
 

68. The value of is equal to 

 (A) 1 (B)   (C)  (D)  

 
69. Mohan travels 7 km Eastwards, then he turns right and travels 3 km and further turns right again 

and travels 11 km. How far is he from the starting point? 
 (A) 5 km (B) 14 km (C) 21 km (D) 23 km 
 
70. If you write all the numbers from 201 to 250, then how many times will you write the numeral 2? 
 (A) 70 (B) 65 (C) 25 (D) 80 
 
  
 
 

  

22228
64)8888(




2
1

13
4

13
63
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FOR CLASS-VII TO VIII MOVING | SAMPLE TEST PAPER (STP) 

ANSWER KEY (AK) 

PART-I: 
MATHEMATICS 

Q.No. 1 2 3 4 5 6 7 8 9 10 

Ans. D A B B D B D C C C 

Q.No. 11 12 13 14 15 16 17 18 19 20 

Ans. D C B C D B B C A C 

Q.No. 21 22 23 24 25 
 

Ans. B D D D B 

PART-II: 
PHYSICS 

Q.No. 26 27 28 29 30 31 32 33 34 35 

Ans. B D B B C A D B C D 

PART-III: 
CHEMISTRY 
 

Q.No. 36 37 38 39 40 41 42 43 44 45 

Ans. A C A B B A B A B D 

PART-IV: 
BIOLOGY 

Q.No. 46 47 48 49 50 51 52 53 54 55 

Ans. B A A A B C D C B B 

PART-IV: 
MENTAL 
ABILITY 

Q.No. 56 57 58 59 60 61 62 63 64 65 

Ans. D B D D B C D C C C 

Q.No. 66 67 68 69 70 
 

Ans. C A B A B 
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